Model formula: hypodescent ~ condition_c

Normality of Residuals

Normality of Residuals
Dots should fall along the line

Distribution should be close to the normal curve
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Model formula: linkedfate ~ condition_c

Normality of Residuals
Dots should fall along the line

Sample Quantile Deviations

-1.0

-2 0 2
Standard Normal Distribution Quantiles

Normality of Residuals
Distribution should be close to the normal curve

Density

-2.5 0.0
Residuals

2.5



Model formula: hypodescent ~ condition_c + linkedfate

Normality of Residuals Normality of Residuals
Dots should fall along the line Distribution should be close to the normal curve
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Model formula: hypodescent ~ condition_c

Homogeneity of Variance
Reference line should be flat and horizontal
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Normality of Residuals
Dots should fall along the line

(%]
C
S
E 05 “x‘ ]
>
()
g §
2 0.0 22—
€ oo
S . ; *
& e .
i) -0.5 Y
o
€ o
(4]
0p]
_10 o

-2 0 2
Standard Normal Distribution Quantiles

Influential Observations
Points should be inside the contour lines
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Model formula: linkedfate ~ condition_c

Homogeneity of Variance
Reference line should be flat and horizontal

{|Std. residuals|
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Normality of Residuals
Dots should fall along the line

Sample Quantile Deviations
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Influential Observations
Points should be inside the contour lines
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Model formula: hypodescent ~ condition_c + linkedfate

Homogeneity of Variance Influential Observations
Reference line should be flat and horizontal Points should be inside the contour lines
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Normality of Residuals Normality of Residuals
Dots should fall along the line Distribution should be close to the normal curve
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Standard Normal Distribution Quantiles Residuals



